BSAkEG: L r

t=R=F

) 2

Ev Y iiEE E

2022%1H27H

4% | A% | 28 2H (K) 3H(X) 4H (£) s5A(+) 6H(H) 78HA) 8H (N) 9H (k) 10H (K) 118 (£) 128 (%) 13H(H) 14H(H) 158 (K) 168 (K) 178 (XR) 18H (&) 198 () 208 (H) 21A(A) [Bx | tx
3| 4 4 | 38
oy drk > ~ LS1-
als BREATO1a—LVEEBEIZLY 1.
A% E B A,
SRLEEDHEEHY
5| 6 6 | 5
6 7 7 6
VBV
7 8 8 | 7
8 | 9 9 | 8
10:05: 10:05- 10:00 o
TJ—A5N
9 |10 o T HJARHYH— Paozd [10:15—7==p ST—REAT BT AT 10| o
BF/—TLEL s BF15kmI52 L BF5—YEL KFEVTITFE INFoo R KFN—DRATFiE
R /== - ‘;IE; 10585 1055 R/——F BAS—SENL
F4¥aT7 AT~k . 1105 e R/—f—E . or BB S R FY—2E4 N FY—2E4 N
%g{zﬁgﬂ ZAO—FREAL 11:35 R/—R—F %%l\;;;l“j ﬁ;;;;‘;;;'}w it ﬁ¥%§717 : Fi& ﬁ%l\,;;;le %%I\,;;;ij
vy £ —2s% 3 —i—F i . 3 3 3 .
10| 11 a—hIngSL 11:38 R ﬁ%l\;,;;wj x‘?éﬁlﬁﬁi“ ke EFPR)—Y =T " 10
154y PR Sqgazay—t  [1199 Py harts P A& x$E H(11:54) S (1154 1154 P,
| L HFREE R/——F oo BFmiE ®
2—f—F 1EE (0:20). %?’T‘/WL (0:15) TEE (0:20) o
11| 0 EBE 7= L FY—2E4 N o |11
FAREUR £FRO—TREAI ASUIKER 0:45 0:45 0:45° ZFRF—HY0OR IJY—2EL
- YALE DR Fi2 TR FRRY (1:00) 1:00 BALMSAT L BFRE—HOR (1:00)
1:05 1: TFRA—/A—KE¥ 1:05 (120 [~ 1:05 1 1:15 BALRSAT I (1:05)
1 R/—R=F (1:30) L 1
o] FARY FARY (130) (135 130y 0
(1:50) BFRO—TREA)L N 1 _ T4¥aFPRy—
RS (1:50) ZFEER @10) BFAEER (@15) 2;:;“/>7“, (1:50) !
A/—H—F T TARRIT— T A/—H—F va—hIRsS0 FY—RE4N PAREr—
1 2 < (2:20) ;‘J;—t};'fl '; (2:25) (240) (215) E;i)ﬁg&’f (2:25) (2:20) (2:25) e = A P . 2 1
Sa— 5 BFAO—TREAL |(225) i (2:30) = (2:30) BFEVIIT (2:30) 2 245 250 BFRE
DER =LA TN E R500) HhFExTAN s (2:50) (2:55)
y (3:10)
o (305) FARY h—yrd e A/—HR=F fﬁ ?g)) 315 (325)
> > d 5 d _ :
2|3 e (335 £7EE R ZFFRY—F 7LV 7 Zags A=l @30 3|2
%%/—;mtn/ (3:40) LFREER A/—R—F 2@R %%;//:‘Trﬁ—_kguz BAXHFY BFKEE EXY 57EE 2Y—=2R840 EEsE R :
@15) W G 2aE erre e 208 2@ ®FAF—r0R Ry
s | a SSUILKENR e i vy 4|3
PR 7 ¢ o - .
RPN (4:50) (4:50) (4:50) (4:50) 455 (4:50) EFTRY-T (4:50) (4:50) (4:50) . JARBUH—
Ya—+IasShA 455 455 455 455 (5:05) 455 BEXAFIR 455 455, - 455 e £ F30km T —
24¥aFRT—b = g RE—FRT— . INTaroWE "
5:25 FESSETH T INTFaooHR R/—R—F HFEkK/ 21—k RE—FR7—k ik T4X¥aFRT—k
4% i 2= ~7 L AR Er Fyt ST I 5| 4
S FAREUR P LIRS o4 500 5l VADZERSS 21—
TR . EE FARRS (6:00), 6:00, 6:00). S 6:00, (6:00), 6:00. (6:00). 6:00. | 6:00)
E3 & AE—FR&— £3 E3
[6:10  SrRaTRT—F PeL s I 6:10 2K 6:10 [6:10 6:10 6:10 6:10 6:10
ZF3000 EhRH = Y=
5 6 m 7 FAREVR Hﬁbx %jf: ug;,\ 71347 PR 45 |.6:45. 6:45. 6:45. 545 45 6 5
(—6:55- [6:55
£FFRY—Y I~ 00 79-284N
g8 £FE L FRER
XRYT—FY L. . |7:30. 7:30———————— [77:30, T 730
6|7 2 02 INTFIrEE BB 7|8
00 7"3‘;"&7;;_'" LI o2 F4¥aPRy—F -
baced KFIUGIL 74;;71;—|~ '/@I)l:?'waﬂs %@’3‘47 w
H8:15)———— 7)— A% /—3ILEL - — —
7|8 "F/—VLEL va—tInsSn S HORRNIY— /;wéaaus EhERd sl 8 | 7
-8:56. i - 5 P4¥a TR~k . Shy— ~7
TY—RE1N 8:55° SxrvF #®¥-o0RHUM e
—9:00—— F4¥aFRr—k 2
(9:10) ﬁf_{me BFEK ﬁ;,;,g» 377 . 020
l9:20) va—hJaySAa va—t7nss
8 |9 (9:30) 9|8
Hh—-yry 9:50 RE
s (10:00) H=y>y 24¥1T R~k FAsX
La—krS9y ey KFFR—Y 7
Sa—hhSe . — RRH— ~
9 |10 Faul— BAxRoG RE—FRY—t BAXT AR B - 70— 10| 9
BE@K S a—k
(1: (11:00) 11:00 R 11:00 11:00 11:00) TS (11:00)
o
10 | 11 £l —(11:30) 11| 10
(11:40)
0:00)- I-(0:00)- I 5
1|0 o |mn
[ L]
o |1 110
1 2 2 1
2|3 3| 2
4% | A% | 28 2H (K) 3H(X) 4H (£) 58(+) 6H(H) 78A) 8H (X) 9H (k) 10H (K) 118 (#) 128 (%) 13H(H) 14H(H) 158 (R) 168 (K) 178 (XR) 18H (&) 198 () 208 (H) 218(A) [ax | 1x




